Graphical solution of equations:

In Questions 1 to 3, use a scale of 2cm to 1 unit for x and 1 cm to 1 unit for y.

1.
Draw the graphs of the functions y = x2 - 2x and y = x + 1 for -1≤ x ≤ 4. Hence find approximate solutions of the equation x2 - 2x = x + 1.

2.
Draw the graphs of the functions y = x2 - 3x +5 and y = x +3 for -1 ≤ x ≤ 5. 

Hence find approximate solutions of the equation x2 - 3x + 5 = x + 3.

3.
Draw the graphs of the functions y = 6x - x2 and y = 2x + 1 for 0 ≤ x ≤ 5. Hence find approximate solutions of the equation 6x - x2  = 2x + 1.

In Questions 4 to 6, do not draw any graphs.

4.
Assuming the graph of y  = x² - 5x has been drawn, find the equation 0f the line which should be drawn to solve the equations:

(a)
x2  – 5x
 = 3
(b) x2 – 5x = -2

(c)
x2 -5x = x + 4
(d) x2 - 6x = 0

(e) x2 - 5x - 6 = 0

5.
Assuming the graph of y = x2 + x + 1 has been drawn, find the equation of the line which should be drawn to solve the equations

(a) x2 + x + 1 = 6
(b) x2 + x + I = 0

(c) x2 + x - 3 = 0
(d) x2 - x + I = 0

(e) x2 - x  - 3 = 0

6.
Assuming the graph of y = 6x - x2 has been drawn, find the equation of the line which should be drawn to solve the equations

(a)
4 + 6x - x2 
= 0
(b) 4x - x2 = 0

(c) 2 + 5x - x2 = 0

(d} x2 - 6x = -2
(e) x2 -x - 3 = 0

For Questions 7 to 9, use scales of 2cm to I unit for x and 1 cm to I unit for y'.

7.
Draw the graph of y = x2  - 2x + 2 for -2 ≤ x ≤ 4. 

By drawing other graphs, solve the equations

(a)
x2 - 2x + 2 = 8
(b) x2 – 2x. + 2 = 5 – x

(c) x2 - 2x - 5 = 0

8.
Draw the graph of y = x2 - 7x for 0 ≤ x ≤ 7. 

Draw suitable straight lines to solve the equations

(a)
x2 – 7x + 9 = 0
(b) x2 – 5x + I = 0

9. Draw the graph of y = 2x2 + 3x - 9 for -3 ≤ x ≤ 2. 

Draw suitable straight lines to find approximate solutions 0f the equations

(a) 2x2 + 3x - 4 = 0
(b) 2x2 +2x - 9 = 1

10*. Draw the graph of y = 18/x for 1 ≤ x ≤ 10, using scales of 1 cm to one unit on both axes. Use the graph to solve approximately x2 = 18

